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zxoe (PM-10) | (PM-25) | (SO2) (NO2) (03) (CO)
(ug/m) (ug/m) (ppb) (pb) (opb) (ppm)
o= 100/ 35/2 | 150/A1ZF | 100/A1ZF | 100/A1ZF | 25/AIZF
e 50/ 15/3 |50/, 20/A |60/, 30/ | BO/BAIZE | 9/8AIZH
Mg (214 74) 29(29) | 19(19) 3 14 41 0.4
SEEE 22(22) | 13(13) 3 14 36 0.4
28 lazoz 27| 2% | 7% 2% | 14% | 36% 2 %
el =) | 44 % 87 % 15 % 47 % - -
CSHEE (219 88) | 43(36) | 22(21) 3 20 35 0.5
18 - 20 8% HE 27 16 4 14 29 0.4
MUE SHMET (204 88)| 34(33) 19 4 19 32 0.5
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- A4 tid] AREA] 5 opg/mt, ZPAMHA] 4 pg/nd, o]4AksEA 1 ppb, 2F 5 ppb¥ THA
391, Yakslekas 0.1 ppm 7 oldblas BYg
- F 39 F€ UMIZ2= vAIEA] 4 pg/m, ZEAEA] 2 pg/nd, oFEE2 1 ppb, ©l4kst
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e ! (PM=10) | (PM-25) | (SO2) (NO2) (e%) (CO)
(ug/m) (ug/m) (ppb) (ppb) (ppb) (ppm)
S — 100/2 35/2 | 150/A12F | 100/A1ZF | 100/A12F | 25/Al2E
. 50/ 158 |50/, 20/d |60/, 3074 | 60/BAIZE | 9/gAIZH
HMe (214 78) 34 19 23 39 0.4
T 29 15 22 34 0.5
28 x| B | 2% | 43% | 2% | 2% | 34% | 2%
19 P mo | 58 9% | 100% | 15% | 73 % - -
CNEF (214 8Y) 50 03 4 29 29 0.6
18 - 204 8 B 33 17 5 26 26 0.5
MU =XEF (204 88)| 39 18 4 05 07 0.5
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K+ 0.4%
Mg* 0.0%

Ca™ 0.3%
Cl 1.4%
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OC 363 % > SOF 229 % > NO; 161 %

o =T |2
s ug/m %
A E S 11.81 100

Na’ 0.10 0.8
NH," 1.80 15.2
K' 0.05 0.4
Mg? 0.00 0.0
Ca*' 0.03 0.3
cl 0.16 1.4
NO;™ 1.90 16.1
SO 2.71 229
EC 0.77 6.5
oC 4.29 36.3
o2 2 EtA H|g

Pb2- 0.0072 pgnie= $871H0.5 pg/m) oW, FBlis=<5<l Cd 0.002 pgm e =

Fe 0.3301 pg/nd, Cu 0.0112 pg/nd, Mn 0.0094 pg/m, Cr 0.0024 pg/nt,

As 0.0019 pg/ni, Ni 0.0016 ug/mi <=
- E9)Y 32 Ca 0.2356 pg/ni, Al 0.1967 pg/ni, Mg 0.0970 pg/mi w02 JehG
(£ 3] 224 &3Y 2AZ 32019 ~ 2021) [ug/m]
T = PM10 Pb Cd Cr Cu Fe Mn Ni As Al Ca Mg Be
et fr=| 26 0.0072 0.0002 0.0024 0.0112 0.3301 0.0094 0.0016 0.0019 0.1967 0.2356 0.0970 0.0000
7 25 00070 0.0003 00025 0.0132 03075 0.0125 0.0021 0.0003 0.1474 0.1670 0.0505 0.0000
2000 8l 24 00060 0.0003 00024 00115 02306 0.0137 0.0033 0.0007 0.1585 0.1219 0.1044 0.0000
oAmA | 43 00240 0.0009 0.0035 0.0221 07228 00244 00032 0.0081 0.3901 05220 0.1612 0.0000
2019 8al 24 0.0088 0.0003 0.0007 0.0090 0.2148 0.0084 0.0025 0.0010 0.0778 0.1207 0.0576 0.0000
oAmA | 39 00192 00007 00026 00158 04742 00187 00032 0.0034 02192 0.3553 0.1138 0.0000
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